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�����������*�% 
'!
ก#&��'!
�- $�!��
�������  ก#&���- 1���
�
�$��
21)�3���0)��
�- 
�� 
�)!.4���ก#&���-52�

  ��
1����-.กก#&���- ก#�
�$%
�-5��
�������  

����  ก#&��'!
����. 
  ก#&���-51��$�!��
�������  �6�
71����
2��
����.�*#�
�-5��)�
,
ก�- �)  3#7�	
��
  8��.9  
1���-�ก�:��0)�- 3���!� 
 )0
�05�  $�
,7ก#�
�$%
���  ��!
��
23���!���
�-�� 
�)2�

!.4�������05�  3#7,7��-.ก�� 
�- !.4������
��
 8��
��ก9   ����0;#0ก<��  ∈  3���	
��
  8������
��ก9  3#7  ∉  3���	
��
  81��������
��ก9   

����    A  �������'!
,	
����02 
   1 ∈ A 
   9 ∈ A 
   -12 ∉ A 
   0  ∉ A  ������� 
 

������	���� 1  ก	
*�)�*�  A = { a, b, c, d }  ,  B = { a, p, q, r }  3#7  C = { 1, 2, 3 } 
,
6�,
��
��
��3��#7'�!��!1��-5$4ก*��!B�) 

 1.  a ∈ A   5.  a ∉ B 
 2.  k ∉ A   6.  0 ∉ C 
 3.  p ∈ B   7.  2 ∈ B 
 4.  s ∈ B   8.  3 ∉ C 
 )0
�05�  '�!�- $4ก  ��!  1, 2, 3  3#7  6 
 

����ก	��
������ 
 ����ก	��
������  �-  2  322 

1.  �����ก�����	
�ก  ������P-ก
��'-.���
��ก�&ก�0�'!
���#
������ !
*�
.   �
�#Q2�+กก
  
3#7������� !
*�
.,&#R
� ( , )  �0 ��7*��

��
��ก3��#7�0�   

����   A = {b, c, d}  !�
���
  A  ��������- �-��
��ก  b, c  3#7  d  ������
��ก   
��ก
��'-.����3223,ก3,
��
��ก�05�,7���,&)�
�,&)  (...) �6� !3�)
��
�-��
��ก!� �(  �% 
�����- 

�'�
�,ก0��0 �1���
�-!71�2�

!.4������      
����   ���  A  �������'!
,	
����02�- *
�)��.  2  #
�0�   

�'-.�1)�����  A = {2, 4, 6, 8, 10, X}  (�-��
��ก�
ก1����5��&)) 
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���  B  �������'!
6.0;��7R
<
1�.�- !.4����	
��
  8�&������8   
�'-.�1)�����  B = {�, �, �, �} 

 

 2.  �����ก�� ���!

����	
�ก  ��P-ก
��'-.�322�-5  ��.�����0�3��   x , y  *��!  z   �'-.�
3����
��ก  3#���'-.������- !P�2
.�ก- .�ก02�
� !�1''!
��
��ก *��!�0�3��)0
ก#�
� ��
�-#0ก<�7!.�

1�  
]).������� !
*�
. �0 ��7*��

�0�3��  3#7��7].��- 2!ก�
� !�1' 3#���'-.����� !
*�
.�+กก
���!�  
���� !
*�
. ���3���	
��
  8]).�- 9  *��!  8�% 
9   

  ����   ���  A  �������'!
,	
����02   
  �'-.�1)�����  A = { xx ����,	
����02 }  
  !�
���
  A  ��������- ��7ก!2)��.��
��ก  x  ]).�-   x  ����,	
����02 
  

 ���  C  �������'!
,	
����- �- !.4��7*��

  1  $%
  10 
  �'-.�1)�����  C  =  {  zz  ����,	
����-   3#7 1 <  z < 10 } 
  !�
���
 C  ��������- ��7ก!2)��.��
��ก  z ]).�-   z ����,	
����-   3#7  z   
               !.4��7*��

 1 ก02 10 

 


"��ก���ก����ก����#��ก$%& 
��ก��-�0 �1�  ��.���� 

  R
<
!0
ก_<�0�6��6��*;�  1)�3ก�  A, B, C, X, Z  3����� 
 R
<
!0
ก_<�0�6��6��#Qก  1)�3ก�  a, b, c, X, z  3����
��ก'!
��� 
�6� !��
��7)�ก��ก
�����0;#0ก<��  3�����'!
,	
�����

(   )0
�05� 

     Ι  3��  ���'!
,	
�����Q� 
       −Ι    3��  ���'!
,	
�����Q�#2 

     +Ι    3��  ���'!
,	
�����Q�2�ก 
    Ν    3��  ���'!
,	
����02 
    R     3��  ���'!
,	
���,��
 

    −R   3��  ���'!
,	
���,��
#2 
    +R   3��  ���'!
,	
���,��
2�ก 
    Q     3��  ���'!
,	
������ก.7 
    −Q   3��  ���'!
,	
������ก.7#2 
    +Q   3��  ���'!
,	
������ก.72�ก 

    Ρ     3��  ���'!
,	
����a6
7 
 

������	����  1  '("��ก������
���������!)��*�����ก�����	
�ก 
1.  N = {1, 2, 3, 4,X} 
2.  I+ = {1, 2, 3, 4,X} 
3.  I- = {1, 2, 3,X} 
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4.  I = {X, -3, -2, -1, 0, 1, 2, 3,X} 
5.  P = {2, 3, 5, 7, 11, 13,X} 

 

��ก+,���,���&  
 �����	�   �!กR6�0�60�P� ��! ����- ก	
*�)]).�-'�!�ก#
��
,71��ก#�
�$%
�� 
�)�!ก�*��!1�,
ก
��
��ก'!
����- ก	
*�)'%5��-5 
 ]).�0 �1���.����  U 3���!กR6�0�60�P� 

A  =   { X ∈ I  X2 + 3X 
 10  = 0}  ������� U  =  I 
  B  =   { X ∈ I+  X2 + 3X 
 10  = 0}  ������� U  =  I+ 

(�	��(�- 
 $�
ก#�
�$%
���'!
,	
���3#71��1)�ก	
*�)��
����)�����!กR6�0�60�P� 
���7)02�05��-5�*�$�!��
�!กR6�0�60�P���!���'!
�.	������� 
����  { }2 2 0= − =A x x x   3�)
��
  U= R 
 

ก	����	ก��
�����  ���  A ,7���
ก02���  B กQ��!��� ! ����05
�!
�-��
��ก�*��!�ก0�  ก#�
���!  
��
��ก�&ก�0�'!
���  A  ������
��ก'!
���  B  3#7��
��ก�&ก�0�'!
���  B  ������
��ก'!
���  A  
����0;#0ก<��  A  =  B     

����  A = {2, 5, 7}, B = {2, 5, 7, 7}  $�
�-��
��ก�5	
ก0��*���)������
��ก�0��)-.� 
)0
�05�  A = B 
 

/"	���  A  !�����	ก�����  B  �'-.�3��)��.  A ≠ B  *�
.��
���
  �-��
��ก!.�

��!.*�% 
�0�
'!
��� A �- 1�������
��ก'!
��� B *��! �-��
��ก!.�

��!.*�% 
�0�'!
��� B �- 1�������
��ก'!
��� A   

����   ก	
*�)�*�  A = {2, 3}  3#7  B = {2, 4, 5} 
  ,71)�   A ≠  B  

 �6�
7��
  ���  A  �-  2  3#7  3  ������
��ก 
  3��  ���  B  �-  2  ,  4  3#7  5  ������
��ก 
 �% 
,7�0
�ก�1)���
��
��ก�����  A  ก02  B  �-#0ก<�73�ก��

ก0�  �% 
  3  ������
��ก'!
  A   
3��  3  1��������
��ก'!
  B   
  

��������������	  ���  A  ��-.2���
ก02���  B  กQ��!��� ! ,	
�����
��ก'!
���  A  ���
ก02

,	
�����
��ก'!
���  B  �'-.�3��)��. A ∼ B  *��!  A↔B 
 ����   A = { 1, 3 }  ,B = { a, b } 

 ,71)���
  n(A) = 2  3#7  n(B) = 2  �% 
 n(A) = n(B) = 2 
  )0
�05� A ∼ B 
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����.	ก�2 
��-.ก����% 
�-,	
�����
��ก���
ก02,	
�����Q�2�ก�)(  *��! �4�.���
  ����.	ก�2   
����     A = {1, 2, 3, 4, 5, 6}  �-,	
�����
��ก���
ก02  6 
 B = { xx ����,	
�����Q��- �!)�#�!
ก02��ก
� x h 4 = 2} �-,	
�����
��ก ���
ก02 1  

C = {  }  �-,	
�����
��ก���
ก02�4�.� 
D = {1, 3, 5, 7, X, 99}  �-,	
�����
��ก  50  �0� 
E = { x ∈N  x  < 1,000,000 }  �-,	
�����
��ก  999,999  �0� 

 

��������& 
��-.ก����% 
1��������,	
ก0)��
  ��������&  ก#�
���!��
��ก'!
���!�0����-,	
����
ก1����5��&)    

����  A = { xx ����,	
����02} 
 B = {X, -1, 0, 1, 2, X} 
 C = { xx ∈I+  3#7  x > 2 } 
  

�����	� 

���,	
ก0)�- 1���-��
��ก  *��!����- �-,	
�����
��ก���
ก02�4�.�  ��-.ก��
  �����	�  �0;#0ก<��  φ  
*��!����0;#0ก<�� {  }   

���� A = { xx ≠ x} 
 B = { x ∈ R  x <  x} 

C = { x ∈ I+ x < 1 } 
D = { xx �����)�!��- �- 33 �0�} 

 )0
�05�  �����

�������,	
ก0) 
(�	��(�- 

 �0;#0ก<���- ���3��,	
�����
��ก'!
  A  �'-.�3��)��.  n(A) 
A  =  {-5,  2}  ; n(A)   =  2 
B  =  {12345}  ; n(B)   =  1 
C  =  φ    ; n(C)   =  0 
D  =  {x|x #$%&'(�&�&#)*+,�ก./0&123ก��� 1}  =  {  }    ;   n(D)  =  0 
 

������ 
       ���  A  �����02���'!
���  B  กQ��!��� ! ��
��ก�&ก�0�'!
���  A ������
��ก'!
���  B  
     A  �����02���'!
���  B  �
������2"��  A ⊂ B  
 $�
�-��
��ก!.�

��!.*�% 
�0�'!
   A  �- 1��������
��ก'!
  B  3#�����  A  1�������02���'!

��� B  �
������2"��  A ⊄ B  
%&���'�ก�   $�
  A  �-��
��ก  n  �0�  3#��  ,	
����02����05
*�)'!
  A  ��!  2n   
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������
�������� 
              1)  φ ⊂ A  ��� !  A  ��������)(   

2) A ⊂ A  ��� !  A  ��������)(   
3) A ⊂ U  ��� !  A  ��������)(  3#7  U  �����!กR6�0�60�P� 

            4)  $�
  A  3#7  B  �������,	
ก0)  3#7  A ⊂ B  3#��  n(A) ≤  n(B) 
            5)  $�
  A ⊂ φ  3#�� A = φ  
            6)  $�
  A  �-��
��ก  n  �0�  ,	
����02���'!
  A  ,7�-  n2  �02��� 

  7)  $�
  A ⊂ B  3#7  B ⊂ C  3#��  A ⊂ C   
 

��������"   
 �*�  A  3#7  B  ��������)(  A  �����02���3��'!
  B  กQ��!��� !  A  �����02���'!
  B  3#7�-
��
��ก2

�0�'!
  B  �% 
1��������
��ก'!
  A 
 

�������ก	  ���  A  �������ก  n  	��  ����  �����������	�������������  A  � �  2n " 1 
 

�,	����&��� 
#4/3ก#5)62��7,#5).78�9+�62�  A  ���  ���������	
����	
  A   

#6/3&�.&�1�3 P(A)  ก;���<=2  #>�#�24?#5)62�#5)  A  9+�3@A�  #5)./0$4Bก2,�1�3�+�CDก5A0�#$%&�7,
#5)62� A .Eก�7,#5)  
 &70&<=2  P(A) = { }x x A⊂  
 


���������� 1  
 'B>,����7,#5)62�  A  'B$4Bก2,�1�3 { } { }, ,1 2∅  �;B  { },1 2      

 @1�&(��7,#5)#9;��&/8 F$#$%&�+�CDก62�#5)G9+� �7�&/8 { } { } { }{ }, , , ,1 2 1 2∅  
     #4/3ก#5)G9+�&/8��� #>�#�24?#5)62�  

 

�������ก
   
'(�&�&�+�CDก62�#>�#�24?#5)62� A  ก*<=2 '(�&�&�7,#5).78�9+�62� A 
@1�  A  +/�+�CDก  n  )7� �;1�  n(P(A)) =  2n 

 

������
���,	����&��� 
1)   P(φ ) = {φ } 
2)   P(A) ≠ φ  
3)   φ ∈  P(A) 
4)   A ∈  P(A) 
5)   @1�#5)  A  +/'(�&�&�+�CDก#.��ก7,  k  �;1�'(�&�&�+�CDก62� P(A) #.��ก7, 2k 

6) @1� A #$%&#5)2&7&)?  �;1� P(A) #$%&#5)2&7&)? 
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�������ก
 

 φ   #$%&�+�CDก4��+62�.Eก J #>�#�24?#5)  �+1ก4B.70�  A = φ  'B+/  φ ∈  P(A) 
�������  �(�947,.Eก#5)  A  �;1�  φ ∈  P(A)  #�+2 
 

(
)%&���������'��� 

*+&
�ก	�ก������ก�,����� �-.ก�&�' 
1.   �������  { }, , ,1 2 34 5A =  �������  � !"�#$%&'(�)$�*�ก�!�  A 

ก.  1 �.  2 
,.  3 �.  5 
(
)���   

�������  { }, , ,1 2 34 5A =  
A  $.)$�*�ก  4  0�1  #� 2ก%  1,  2,  34  234  5   

 

2.  � !"�&'(�&50�!��6��1���78.9:��� 1;  2  3�0�1   
ก.  {2, 4, 6, 8, 10, ?}   �.  {2, 4, 6, 8, 10 }   
,.  {0, 2, 4, 6, 8, 10, ?}   �.  {..., -4, -2, 0, 2, 4, 6, 8, 10, ?}   

(
)���   

�6��1���7  #� 2ก%  1, 2, 3, 4, 5, 6, 8, ... 
�6��1���78.9:��� 1;  2  3�0�1  #� 2ก%  2, 4, 6, 8, 10,  ... 
�������  &50�!��6��1���78.9:��� 1;  2  3�0�1  ,A!  {2, 4, 6, 8, 10, X}   

 

3.  6�,
��
  C  =  {  xx  ����,	
����-   3#7 1 <  x < 11 }  )0
�05�  c  �'-.�3223,ก3,
��
��ก1)� 
��
ก02'�!�) 

ก.  { 1, 3, 5, 7, 9, 11}   �.  { 1, 3, 5, 7, 9 }   
,.  { 3, 5, 7, 9 }   �.  { 2, 3, 4, 5, 6, 7, 8, 9, 10, 11}   
(
)��� 

6�,
��
  C  =  {  xx  ����,	
����-   3#7 1 <  x < 11 }   
C  $.)$�*�ก  4  0�1  #� 2ก%   3, 5, 7  3#7  9    
������� C  =   { 3, 5, 7, 9 }   

 

4.  ก	
*�)  A = {1, 3, 5}  )0
�05�  A  #$%&8%�ก�7&50"�� !"� 
ก.  {1, 1, 3, 5}   �.  {5, 3, 1}   
,.  {135}   �.  {1, 5, 3, 3, 1 }   
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(
)��� 
&50 A �4&8%�ก�7&50 B กD0%!&$A9! &508���)!�$.)$�*�ก&:$A!�ก�� ก3%�1,A! )$�*�ก8Eก0�1�!�&50  A  

&'(�)$�*�ก�!�&50 B  234)$�*�ก8Eก0�1�!�&50 B  &'(�)$�*�ก�!�&50  A  "* )�F3�กG�H  A  =  B 
&*%�  A = {1, 3, 5}, B = {1, 1, 3, 5}  I �$.)$�*�ก5�6�ก��": ,��&'(�)$�*�ก0�1&�.;1 
�������  A = B 

&�A9!���ก  A = {1, 3, 5}   
�4&:D�1%�  A  $.)$�*�ก  3  0�1  #� 2ก%  1 ,3  234  5   
�������  � !8.9#$%&8%�ก�7&50  A  ,A!  � !  , 

 

5.  ก6�:��  A = { 1, 3 }  �������  A  &8.;7&8%�ก�7&50"�� !"� 
ก.  B = { 2, 4, 5 }   �.  C = { 2, 5 }   
,.  D = { 3, 3 }   �.  E =  { 13 }   
(
)��� 
A  &8.;7&8%�ก�7&50  B  กD0%!&$A9! �6��1�)$�*�ก�!�&50  A  &8%�ก�7�6��1�)$�*�ก�!�&50  B 
������� 

B = { 2, 4, 5 }  , n(B) = 3 
C = { 2, 5 }  , n(C) = 2 
D = { 3, 3 }  , n(D) = 1 
E =  { 13 }   , n(E) = 1           

��'
�/
  %&�  %  -.ก�&�' 
 

6.  � !"�&'(�&501%�� 
ก.  A = { x ∈ R  x + x =  x} �.  B = { x ∈ R  x R x =  x} 
,.  C = { x ∈ R  x <  x} �.  D = { x ∈ R  x2 =  x} 
(
)��� 

ก.      x x x+ =  

               2x x=  
       2x x x x− = −  
                 0x =  

{ }0A∴ =  

�.  x x x− =  

                  0 x=  
       { }0B∴ =  
 

 

,.            x x<  

       x x x x− < −  
               0 0<             &'(�&8D� 

C∴ = ∅  

�.                  2x x=  

              2 0x x− =  
          ( )1 0x x − =       
 0x =     :�A!   1 0x − =  

0x =      :�A!   1x =  
{ },0 1D∴ =  

��'
�/
%&� �. ��0
���)1�' 
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7.  � !"�&'(�&50�6�ก�� 
ก.  &50�!��6��1���7 �.  &50�!��6��1�&0D$71ก8.9  3  :��#� 3�0�1 
,.  &50�!��6��1�,S%71ก �.  &50�!��6��1�,.971ก8.9� !;ก1%� 100 
(
)���   

ก. &50�!��6��1���7 ,A! { }, , , ,...1 2 3 4  &'(�&50!���0H 
�.  &50�!��6��1�&0D$71ก8.9  3  :��#� 3�0�1 ,A!{ }, , , ,...3 6 9 12  &'(�&50!���0H 
,.  &50�!��6��1�,S%71ก ,A! { }, , , ,...2 4 6 8 &'(�&50!���0H 
�.  &50�!��6��1�,.971ก8.9� !;ก1%� 100 ,A! { }, , , , ,...,1 3 5 7 9 99  &'(�&50�6�ก�� 
 ��'
�/
  %&� '. ��0
���$,�ก�� 

 

8.  � !"�&'(�&50!���0H 

ก. { }4A x x x x= + =  �. { }1 5B x x= + =   

,.  { }2 2C x x= + >  �.  { }3 6D x x= =   
(
)���   

ก.      4x x x+ =  

               2 4x x=  
       2 2 4 2x x x x− = −  
                   0 2x=  

                  0 2
2 2

x=  

0x∴ =  
�������  { }0A =   &'(�&50�6�ก�� 
 
�.           1 5x + =  

            1 1 5 1x + − = −  
                        4x =  
�������   { }0B =  &'(�&50�6�ก�� 

,.            2 2x + >  

         2 2 2 2x + − > −  
                       0x >              

x∴  &'(��6��1�����"�T8.9$�กก1%� 0 
�������  C   &'(�&50!���0H 
        

 
 
�.            3 6x =  

             3 6
3 3
x =  

                2x =              
{ }2D∴ =   

�������  D   &'(�&50�6�ก�� 
    ��'
�/
 �. -.ก�&�'  
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9.  �������  A  = { 2, 3 }&50"�� !"�  #$%&'(�)�7&50  �!�  A 
ก. ∅  �. 2   

,.  { }2  �.  { }3  
(
)��� 
 { },2 3A =      ( ) 2n A =  

�������)�7&50�!� A $.    ( ) 22 2n A =   
                    4=   0�1 
�������)�7&50�!� A  #� 2ก% { } { }, ,2 3∅ 234{ },2 3  

��'
�/
 2  #�1��0
������%�' A 
 

10.  ก6�:��  A  = { 1,2 }  �������  P(A)  0��ก�7� !"� 

ก. { },1 2  �. { }, ,1 2∅   

,.  { } { }{ }{ }, , ,1 2 1 2∅  �.  { } { } { } { }{ }, , , ,1 2 1 2∅  
(
)��� 

( )P A =   &50�!�)�7&508���:$��!� A 
)�7&50�!� A #� 2ก% { } { }, ,1 2∅ 234 { },1 2  
������� ( )P A =  { } { }{ }{ }, , ,1 2 1 2∅  

 


